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Directions: Match the statements with the properties of equaiity.
Properties will be used more than once.

H L Ifk=3then3 =k A. Addition Property of Equality
B. Subtraction Property of Equality
D 2 12=14 thenx=7 €. Multiplication Property of Equality
D. Division Property of Equality
e s 4=4 E. Distributive Property

F. Substitution Property
G. Reflexive Property
H. Symmetric Property
1. Transitive Property

i& If -5x— 1 = -11, then -5x = -10
Lﬁ. If 10a = 2b and 2b = ¢, then 10a = ¢
__E_& Mx-4)=-7x+28

il If 6y = 24, then 6y—3 = 24 -3

§ 9. If10x + w=4land w = 1, then 10x + 1 =41

I_W. f3x=2yand2y=zthen3x=z
A 4 ff7m=35then7m+4=35+4
_H 8 oroc=18thents=2
Lﬂ. Given 32 + 1, if x = 5, then 3(5 + 1
_C W m=-2 then8m=-16

8 v 1y=1

E W Sx+8=x(5+8)
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Directions: Name the property of equality that justifies each statement.

B 1 wa=2tena-c=2b-c

B 2.x=x

_E _3.3p-n=3p-n

_D 4 f7k=-4,thenk=6

¥V _S.fm+n=15andn=2,thenm+2=15
_C e r2-o5,5=-20

_ Y 7. twr=2cand2r=y thenwi=y
_P s fc-9=-1thenc=8

. Ifn=-3,then3=n

A. Addition Property of Equality

B. Subtraction Property of Equality
C. Multiplication Property of Equality
D. Division Property of Equality

E. Distributive Property

F. Substitution Property

G. Reflexive Property

H. Symmetric Property

1. Transitive Property

Directions: Complete each proof using the properties of equality. Not all rows may be used.

10. Given: -8(x—3) = -32; Prove: x=7

Statements . Reasons
1. -9 (X-3) = -32 |. Gliven
[2.-8x 424 = -32 2. Distviludive Propety
3. X =-50 3.Suwovadin P@_p_gdy_
4. x=1 4. Division ﬂmpa&vj
11. Given: —15:%-1B;ine: m=10

Statements Reasons
| -lp= 21 |- Given
2. 7:=% 2 ridition
13. 10=m 3. Muth i
4. m=Io 14 Summemic. P pesdy





